B X

AN N

o
-

X &

s )
4

i Y

\ Pis




tH =0 5 il 201

(REREBEMEAETERS)

E & FER
BEdH # & ®EY E W
B oY AXE

b 58 K 2 AR A




F5 e H (CIP) Brdht

KREFENRE RS 5E/FTFER X5 — Lig. Fl
MR B AL, 2006

(B S5 1808

ISBN 7-313-04523-9

LK UL Freee . 3B R F-H SR KTk
-8 V. H319. 9-44

v 3 S A AR CIP 4% 5 (2006) 55 082885 &

H&E5 3
(REXIEREAESZE
FE¥ EH
RSN R L R AL MR 1T
CL#ET TR B 877 43 MBECAS 200030)
L% 64071208 WJRA . KKLE
AT RN SAE R BT BRI T O AR A £ 4
A 880mmX 123Cmm 1/32 ik, 12,875 “F¥8%. 156 T
2006 4E 7 AN LR 2006 412 7 S50 L Y G
EI%C: 1~5050
ISBN 7-313-04523-9/H « 891 i . 19,50 i

ML BNeR




Hi

(s

(HEBSHERFRBUARES S ) —BERRUNKENRE
W H KA RERNESBINERRE TR, KEESRHA
HEMLEAXFRFLNEFANBEEBRFLEMSMEFIXBERY
Hipeh X FROHESFE.

HAl, REHEANSERERBER AEEEXELGHFEXSHE
% EHE AP0 B 2005 4F 6 ARBIRNE T KRFXREN AKERIES.E
RS EXNFEOAZSAER LUERLFNS RIBHRORNHL
ARYSE, AMERBIFERERBAUBEBGF RS K. MZH AR
FAFUMEU—KEBIEPEY . BFEORF50RETERNX
B, ot B ERBMARIEXE XGRS LV IEHEE, XX EE
FAEABBHRZEEHR. .

ZEHREEHNREIENEEZEAARBERSZAHION
TS, AT B R R RO KRR A, B 5 A4 e 1 % R iR L R
S5SaNANRIHRN, REL XK .S ERESFTHBMINEZ
Al ATEEHEATHHFRIRE.

FHIHEUIEIEAR. H—BFER 5N AR RERS
SEMEARTHTSHBIE. R BIRBEELRAEARSSEN
AR B 255 R 50 1150283 LR 44 8 45 158 1 28 B 5 1 BT i Y
AR, RUEBER SR T, FRU—EROHEXET, UMES
—ERMGT LR, EEERFERBEER T . RBETHHA .

B AGER ANt h 10 EHESHFREHR . EH
FEFERAEEUEREXNOERAEGE R, S ELRIL
ZH.

o] e



HEEAHH =BG I WS EERSRIT
B FARPHR, BHAREEL. B RERARERETBY,

TFLUHEE.

m &
2006 4F 7 A



H ¥

B REREEW®SWEENE--

% ¥ [}]ﬁ&ﬂﬁﬁﬁ lﬁ%&&% csecsessssesstrsarcsnsessnncroes

— TEXE -
—HNRE -

B BEMBREIEITSBBEUI G ooooreoerrrerrrerncionoraes

.o esessesseccacassesese - 161
- 172
e 179

B mﬁﬁé’
BV s
=%

gzmﬁ ggﬂ“ﬁ.........-................................. esercssecnane
ceresscteicstracincenanes -« 189
Test TWO ssvcescecsccccactossecstocscsncssassssccssccocancnccossscscoassans

Test One

Test Three sssesecocsscccacscesnss

Test FOUr seeveccestrecsscresccsarcsrescasccsacsocsrviscessessascsncessssoces

Test Five

ﬁﬁrﬁjg(ﬁﬁ@g)

. .
Gl Ul =

®seccsscesnsssessscscscnsasncsncisscsarices AD
=. ;ﬂ]ﬁ/ﬁg%ﬁ BT T T P PP
m. iﬁj)‘(”ﬁ%g Peeesececasseanerecce st cencanciacos et onenasansasesen
%E‘-’ﬁ ﬁﬁiﬁ]mﬂﬁ......"................ eectsvencsiesnanssrcecnces
%m:’ﬁ mﬁmﬁgﬁ........................ coetsennassstsseacanvoscas

74
111
135
140

161

185

201

== 213

226

- 238
Test Six R T L T R P R PP PP PR P PPN

Test Seven seeeeececceccctstoctsestosccasessoscscscccctoservsroesccorsosseene
Test Elght 090000 000000000t 000 c0raseceroneeceeersessisces et ecs sessnsaas e
Test NINE cccceccesccoctccioscccrtorscsssscacssesscscisssocssasssensaossssss

250
262
274
286



Test Ten

%gﬁﬁ». *%S:Egﬁ-coo-o teesecesrtectecnnsesantacacotcancreisenns
%—*%‘Sﬁ}""""""""""’" eeeetsestesesrs e ssscsssereratststrcrnion e
%:fﬂ;ﬁ........................ seserstesescractssatrenaitrnessrstnsansennes
%E%ﬁ..................... caescereseseccsraces et rer st csnsesesnsrnassane

- 299

311
311
343
354



F—Er SRR R SH RIS

AHE—BEHFRFEBHFLE, ERXETHA 2004 FHMA T CRF
REHFER) . HEMRERFENRBEGSNARS . FHREFRFEER
FREABHIRETRA AFEXEME—NETEAMABAZSHY
BEEAMRA., NEERERBOT S, RS LOIH TR, b FOR S5 &S &%
B 40 Y6 WA B 35 94 . {ELEL F B 108 00 e B AR o 208 R T o 4 90 O R oKt 44 o
T HPREFEEFERS L EERE 10, BN 5 4 0 R B R 8,
ERELEEHEXENIBTIRGES RRABORSFHRBERD S B
BERE 2500 BB BR T WK 1% 50058 B O SR TR AR ST, 1B K SRR 6 380 9 0 K
PAR TR, RS ELEERERE PN ECRENSERES.

FEBENAARMYAEMARNBREN KERBESEH#THIERINE
E.ANONEENGEGETNARORE TERNER EREEEAREN
i 8 P S AR 4% 2 B R A BH O A L 3F X R Gt B B B 8 i A RS VB ) T A L A
FRE ZEHNHFFZHBHPMHREEROHG  REERER. Bk, ¥4
BEAREEEIGUE NN EEXRY AL RBEERGH BARTADAY
REBEBEABH  ARELEE-LENESANAEFESHEHET . 244
& 0 55 BE Ul Gl 32 5 08 R R AR B, R UE U R SRR, MBI R - B R A
HBR, FBIHEBRATERF THEEX —HEHEFTR.

B—V RERLHEESHET %

AR¥FERBNEREERXEBERESELNEHRENNERIET—ERY
REEAX. ERBAREETH ERERTEOLEXE ADNTHORILR
B SR AR B — P B B B i T 18 %’lﬁﬁxﬁ%?ﬁ AR KR BERNAR
BB A AR R e B T .

B REETT B KBOT 4 PR IS B - S B A R0 EE S R, 3SR
EXEEMREEREXE, RAEEMGRE. HETLURE B S HEBE S #®,
Bk AT AR BR 56 DR 52 o 45008 oy AR 2 FF » i T LA SR MR S 138 A 2% X B R 9 1) R /i
R EMEN TR, WEMEENBEET RN, AT R EMRHA
B AREFAFEONFELS T R EREEFRETE, IRERNOSHK

o1



FEODUEMNNETPRE - T ERNER; GENRELBEXE.BET
BHENESANE AREREBNRAANZLZFENAEREXEIRFITH
. BHREEFEANE. HER N ETEIRAEERCE, BTLKX
BTHRXENAR AR IASREAIHT. HRRETRN R, B0
ERBAESRERIMRXOER L FEN N ETREN WA, AHEE
SENBRMALFREME, TASESAEREXHES L2066, A8 T
"R afn BRI HERET AT SMICERBELARSE. ZF
RAMMEARERR, EAENREBCHAKRETE. X FIEIZIREBHE L,
BREGE-FRETE . FURFRBE _MAEERTE. Bit, £REN%E
B, FEALBEARARRNBFRELAXE  EEEF8CHB—,
HEHREBRS, HNGKE.

BAGRESF RN  XENRERRFRAESH . RN BRBEXR
B B9 B2 7 B B = Fh . M i (skimming) | 2 $£ (scanning) 1 4l i (reading for full
understanding/reading in depth/careful readihg) .

1. RRiK

RMEENXKRERE NESBER—FHERA"HRARTE  QR—FNK
2R R BB Bk, BOR A e R R P DA B AR P R ok B
BHERERXENTERERERBEN KR, I E X XM B
WA - BERSKEY.

HTFREETTHE SR BN BN, ER A A ENE
HE.BGRE.BRERE. XENFALESER.EBENEEAN. LR U EH
first second F3| F IR R AR B HAIBEH , KE R A because, as a result %
FIRNEREARXENES, REFE LA but, however EF|FHEREITHWIE
M, TIARRELEZXNE —~MAANE R B for example 5| H L. &)
AHEREEER AR SRR M. AT EFmiia e Xm
FOBRERERARESNH EERIEBRXEPREFEHBRFRENS
ZHXHEL BHAIXREEENSXENTEEHEL.

BMEFEEEETRELTEBERB RIS ERE.

(1) CEM L B (the main idea),

(2) ¥&£ % B9 MW 45 (the author’s point of view),

(3) X E MR (the method of treatment),

(4) 3CEE R KHg (the style),

(5) YE3 B 0 W) (the tone of the passage).,
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(6) XERBH (the title),

- BEZBRPIAWESHEMEEN, NRBBEE. FEELHTRIAD
AR — IR, AR EI RO, B SRH LR S
FR. AR XEHLRBRN . AHXEFHFEEY JHF 60 FL.
EMEARIFE ARARZRXENPLEAN MXEATHEERARTE
HRENEEES.

BEEERANSEROT .

(1) REXERIFERBIARE ., )‘Cﬁ%ﬁ%ﬂ*ﬂﬁl%ﬁﬂj‘,l 3Lk 473
For . EREIEE MRS G PRI RED i 53 3 3058 % 2 B A b5 8 LRI
PR

(2) WikE—BMBE—AE, BT 7Y% 8 5] ik 48 30 % A8 Sk
RUHEX. ERHWRRAEEREER B =1 24H R E B4 (topic
sentence ) , # /&% 47] (developing sentences) 145 #5## (concluding sentence)., ¥ /3
AEXNBRELRNEE PEENPLBE . AXSERATHTFOE. B
BEME—AE LR ELRSTFTREENPLEA,

G HEXENE -BRAIBE—B. XENE—BRXHRFEE, TEIA
XEHENRHEE, XEWRE - REFREXENS LR, REHNT &
HEERSHNEE A RAXFHIEE RTRB TR T XENAE. Y
R ARGBHXEFLARMR. EiEfXH  FEBRITEXHRENEYR
MAYLEVR R . A EBRNERARSIANEBREXH TERMARXENR
AR BR—BREXNERE —2XWES HENEREXENE S EHK,
B X EME— BB G — B, B 4% SR 4.

@ FEAMAXP—LHBTX X EHF TR ENRIL T, &/ ERE.
ﬂﬁiﬁ‘]\%Wﬁﬁﬁ}ﬁﬁ%%vﬁﬁﬁ%@ﬁﬂﬂﬂﬁ*Tﬁﬁ%%%ﬂ:E%»ﬁ
XHFA ATREBXENAE FLUELAYTRHEXE,

(5) REXPRELFREKFA ., M HriE however, in spite of, yet 2, 1% # 17
furthermore, moreover, in addition % , §UR if] firstly, secondly, next %5, X4t
BERABTERZAS F TXMEZEXR . HELEHSERRBIBIES
EW R, R EEAHE.

2. i

BEENAIZ BRRBER B HEIANRERE &, SEB YL
AEIFTFENEHEEREGER MBF HE AL L JRES . ZHiE
FHEERRTBIEB LY 160 R SRS L, 2 3 R 75 X b1 R e
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WHRTHTH, QREFH NS ERRBOERNARAN, B FEHR
BEOEHME, MREMEEXNFEANOAE-XFANER THITH.

BN, EXEALWF . —BHETHEKRSEEABTHXME G, HE
% %5 5% who, when, where,what,which %3 2 4 5 5] £ /9 8 4%, R Bt Fb
BEAEAUBRBERBER, AIFEESXEHNHHXMEE M. why, how
6 [R) BB ) A B R P X R BR 38 J i , SX B R B SR B A Sl ot 2 R A BRI B O
RIAXFTESEEAFHXNERRE. AEHFATESEITRN“AE"F &
ZIRBERWER . UBRRAERNSERKERERLE.

RELEPHANELA YN FTERMFTRADTF .

(1) When is the deadline for. .. ?

(2) When did the scientist discover that. .. ?

(3) Where did Alice spend most of her childhood?

(4) Which of the following is most probably an example of. .. ?

(5) Which of the following is NOT true?

(6) Why does the author think. .. is very important?

(7) How did she manage to...?

(8) In the passage, the author advocates all of the following EXCEPT

3. Ak

MBI AR REXEN B TRETRXEREREENEEUR
P 5 B K8 52 15 B.4h 5 ot i 7% B A7 40 02 B 3k R O R X E R — 42 iR A
S UM X R EREZAERNASH BN . I TFREBDEND T, 5
PRXBEAG ANEBRLFEER . EEEL AW . HE BEHESHEY
B FEXEFETEHANE.

IR A B T FI B0 B R 52 A )R 7 B i AR B P, X
By EEEATHRALE. A ERZEH G,

HEREBRETMT .

(D AENMBIARENFE TEIKRLETXRAMBREEXY
WOH RN, A R R 5 Wi X

(2> gRied a0 8 B xE LA AR SR A5 B A% O K4, T £ BY BT 2 B B AR,
BEIASHATEN  FRERXR BHSHBHXRERERLTFRE.

RERBIW=MEAETE BRAMRZ HRAERAEIRTNWERRE
B UE M A L PR L R TEXC B A I R Y, X S B T B 2 AR
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MAENDSEEREXRNIBTRERRABERYSEAE RER
MM NE S,

BV RiEDeER S RS

o AT I2 948 B JE ERB B BB AF S8 0, X 3R O R D) e T AR LB ) 1
HRBTFEE - EMHBERR., BTXLERR, ZRLBET KBS WK
B.EEE. AN AR R ORI . 880 XX K R A
o1 5 AT IR AT LATE BY B A SO IR R K MBI B R D R

—. TEAR

F B XHREDL BB (main idea) , RFEARE KNI EEAR. B8
FRFENMG ARMBLRRXENRD A TFRERAHLBEHNZ Y. B
RUNESER FEETHIREIENEEEERNS AEEMAE LR
B EEBXAN N EBAERBHNRELNRER IR (L XRBEEY
FEARE .HNRIEB(LEXREBRN BB EFEL I EBEER
FEAXEREBEGEAESXETEEELATLR, R L HAGRME X RE
A main idea, main point, key point, mainly explain, mainly about, purpose,
best title, mainly discuss, the general tone, attitude %, MM B AL XMT

(1) What’s the main idea of this passage?

(2) What is the best title for this article?

(3) What is the main subject of the passage?

(4) What is the writing style of this article?

(5) What’s the key point of the passage?

(6) The general tone of the passage is (critical, positive, negative,
indifferent, sensitive, doubtful, impartial, suspicious, sympathetic, indignant,
admiring, confidential, optimistic, pessimistic, etc. )

(7) The passage is written to explain

(8> What conclusion can be drawn from the passage?

(9) Which of the following sentences can best summarize the article?

(10) This is a letter of (request, application, complaint,
advice... ).

(11) The main purpose of this passage is to .

EE.HEESEN  ERREAREREE, AABIBH S XM —iE %
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BHELAZEANMHAEAIEATEHFAN. EAETXHER BEAEE L
X H R E , BosE £ R T B 58— 4 8 (subject) , LR A ILAJ7 XY
H#fT MR e, ATI B A IE BB ER.

M E BB, 2% LT ILER .

) URBERREE B AREY RSN E T XEE L MEER
AMARFES .

(2) HXEMAETREREEELS, ALK,

1. NEEEE

REFRERAHNA2RAXENTEH#TRAMN, BERFAEEXLAHXE
PHRERFEENFEL ERMEEXPHERNAS HEREAMRARE, ¢
AESE, MEEEEARE, SEFCPRE WRMHASE S22 NA R LABE
XENLBAE. Bl

Sugar history in the Hawaiian Island is filled with pioneering. In sailing ship
days, Hawaiian sugar growers were many months from sources of suppliers and
from markets. This isolation built up among the Hawaiian growers an enduring
spirit of cooperation. Growers shared with one another improvements in
production. Without government aid of any sort, they build great irrigation
projects. Without government help, they set up their own research and
experiment organization. Pioneering together cover the years, they have
provided Hawaii with its largest industry.

Question .

What does the bassage mainly talk about?

A. In sailing days, Hawaiian sugar growers were many months away from
supplies and markets.

B. Hawaiian sugar growers built their great industry without government help.

C. Hawaiian sugar growers had set up their own research organization and had
shared improvements.

D. By pioneering together, sugar growers had provided Hawaii with its largest
industry.

[HEMATY T A, BRIC ARXPRANETEKAE MY EEMEE, K

BEROEHE  ARUBRZELXNPLEL, MABEAD ARBEELXE

VR R, B, IERER.
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Exercise 1

Directions: In this section, there are ten passages. For each passage there is a
question or unfinished statement followed by four choices marked A, B, C and
D. You should decide on the best choice for the question and then mark the
corresponding letter on it.

Passage 1

More and more, the operations of our businesses, governmen;s, and
financial institutions are controlled by information that exists only inside
computer memories. Anyone clever enough to modify this information for his
own purposes can reap big reward. Even worse, a number of people who have
done this and been caught at it have managed to get away (& 8 ) without
punishment.

It’s easy for computer crimes to go undetected if no one checks up on what
the computer is doing. But even if the crime is detected, the criminal may walk
away not only unpunished but with a glowing recommendation from his former
employers.

Of course, we have no statistics on crimes that go undetected. But it’s
disturbing to note how many of the crimes we do know about were detected by
accident, not by systematic inspections or other security procedures. The
computer criminals who have been caught may have been the victims of
uncommonly bad luck.

Unlike other lawbreakers, who must leave the country, commit suicide, or
g0 to jail, computer criminals sometimes escape punishment, demanding not only
that they not be charged but that they be given good recommendations and
perhaps other benefits. All too often, their demands have been met.

Why? Because company executives are afraid of the bad publicity that would
result if the public found out that their computer had been misused. They
hesitate at the thought of a criminal boasting in open court of how he juggled (¥
3% ) the most confidential (f# # ) records right under the noses of the company’s
executives, accountants, and security staff. And so another computer criminal
departs with just the recommendations he needs to continue his crimes
elsewhere.

Question



1. The passage is mainly about
A. why computer criminals are often able to escape punishment
B. why computer crimes are difficult to detect by systematic inspections
C. how computer criminals manage to get good recommendations from their
former employers

D. why computer crimes can’t be eliminated

Passage 2

Any talk of the energy needs of the United States should include a
discussion of the Tennessee Valley Authority, a successful but sometimes quiet
federal agency. The Tennessee Valley Authority began life in 1933 as one of the
public works agencies designed to help fight the Great Depression. The TVA
was first meant to employ thousands of men to build a chain of dams down the
Tennessee River. These dams were to include electric plants for generating
electricity to provide cheap power for the rural land in the valley area.

Within ten years, most of the homes in the TVA area had electricity. In
twenty years, there were four times as many homes in the area with power. At
first, TV A electricity cost a penny per kilowatt. Many homes in the area relied
on electricity for heating. This results in criticism now that electricity is more
than three pennies per kilowatt. Other criticism has been aimed at the TVA’s
other methods of generating power in 1975. The Authority was sued (¥ 45 ,# 14
¥ i8) for polluting the air with its coal-generating plants. Anti-nuclear groups
point out that the TVA would soon have a total of seventeen atomic reactor
plants supplying power for its service area. But the Tennessee Valley Authority
has adjusted to the new times. It quickly became a model for pollution control at
its coal plants. Just as quickly the TVA found itself an energy conserver as well
as a producer. The TVA conducts free home energy consultations and offers
cheap loans to consumers who want to install insulation storm windows, solar
energy equipment or wood burning stoves. The resulting decrease in demand has
allowed the TVA to postpone or delay construction of two nuclear reactors.
Instead, the Authority is building a plant to extract coal gas from low-grade (
B4 #9) coal. Their first step will be to use the coal éas to make an ammonia
(&) fertilizer for farmers in the TVA service area. Their ultimate goal is to
produce a synthetic fuel from the coal gas. The TVA will then be once again
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producing a cheaper source of energy and helping solve the nation’s problems,
several at a time.
Question
2. The main idea of this passage is that
A. electricity purchased by TVA’s customers has tripled in price.
B. the TVA has not served its function well.
C. the TVA is dangerous to the environment.
D. the TVA has always been a pioneer in the energy field.

Passage 3

Basic to any understanding of Canada in 20 years after the Second World
War is the country’s impressive population growth. For every three Canadians in
1945, there were over five in 1996. In September 1966 Canada’s population
passed the 20 million mark. Most of this surging GR%E ) growth came from
natural increase. The depression of the 1930’s and the war had held back
marriages and the catching-up process began after 1945. The baby boom
continued through the decade of the 1950’s, producing a population increase of
nearly fifteen percent in the five years from 1951 to 1956. This rate of increase
had been exceeded only once before in Canada’s history, in the decade before
1911, when the prairies were being settled. Undoubtedly, the good economic
conditions of the 1950’s supported a growth in the population, but the expansion
also derived from a trend toward earlier marriages and an increase in the average
size of families. In 1957 the Canadian birth rate stood at 28 per thousand, one of
the highest in the world.

After the peak year of 1957, the birth rate in Canada began to decline. It
continued falling until in 1966 it stood at the lowest level in 25 years. Partly this
decline reflected the low level of births during the depression and the war, but it
was also caused by changes in Canadian society. Young people were staying at
school longer, more women were working, young married couples were buying
automobiles or houses before starting families; rising living standards were
cutting down the size of families.

It appeared that Canada was once more falling in step with the trend toward
smaller families that had occurred all through the Western world since the time
of the Industrial Revolution.
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Although the growth in Canada’s population has slowed down by 1966 (the
increase in the first half of the 1960’s was only nine percent), another large
population wave was coming over the horizon. It would be composed of the
children of the children who were born during the period of the high birth rate
prior to 1957.

Question

3. What does the passage mainly discuss?
A. Educational changes in Canadian society.
B. Canada during the Second World War.
C. Population trends in postwar Canada.
D. Standards of living in Canada.

Passage 4

Orchids are unique in having the most highly developed of all blossoms, in
which the usual male and female reproductive organs are fused in a single
structure called the column. The column is designed so that a single pollination
(# ¥) will fertilize hundreds of thousands, and in some cases millions, of
seeds, so microscopic and light they are easily carried by the breeze. Surrounding
the column are three sepals (3 ') and three petals (£ ), sometimes easily
recognizable as such, often distorted into gorgeous, weird £ # #J), but always
functional shapes. The most noticeable of the petals is called the flabellum, or
lip. It is often dramatically marked as an unmistakable landing strip to attract
the specific insect the orchid has chosen as its pollinator.

To lure their pollinators from afar, orchids use appropriately intriguing
shapes, colors, and scents. At least 50 different aromatic compounds have been
analyzed in the orchid (= 7E) family, each blended (J& &) to attract one, or at
most a few, species of insects or birds. Some orchids even change their scents to
interest different insects at different times.

Once the right insect has been attracted, some orchids present all sorts of
one-way obstacle courses to make sure it does not leave until pollen has been
accurately placed or removed. By such ingenious adaptations to specific
pollinators, orchids have avoided the hazards of rampant (%% /) crossbreeding
in the wild, assuring the survival of species as discrete (43 B3 ) identities. At

the same time they have made themselves irresistible to collectors.
. 10 -



